Exam 3; Finance 4360; Spring 2006; 1:00 Class





Name __________________________________

Note:  For all problems requiring calculations, set up but do not solve anything.  “Set up” means write down the appropriate equation and plug in as many numbers as possible.  For multi-step problems, you should refer back to previous steps.
Bonus:  What Excel short-cut is “used to delete a worksheet”?
Short answer questions/problems

Note:  if you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  You are considering two different bonds issued by the same firm that mature for $1000 in 15 years.  While the bonds have the same price today, one of the bonds is callable and one is not.  What differences in coupon payments from the firm might you experience over the next 15 years on the callable bond compared to the non-callable bond?

2.  What is the debt contract called?
3.  Trivex Inc. is considering issuing additional shares of common stock through a cash offering.  Based on the following information, what is the underwriting spread on the issue? 
Price at which stock trades just before firm announced plans to issue additional shares = $45

Value of stock when issued = $41

Price at which stock will be sold = $38
Price at which stock trades just after firm announced plans to issue additional shares = $42

Amount per share that firm receives from the investment banker = $36
4.  Your boss at Maxsight Inc. has recently heard about the possibility of issuing common stock through a shelf registration.  List two reasons that Maxsight might not be allowed to issue securities using this method.
5.  Explain how the total amount of taxes being paid to the government would be lower if a firm uses $500,000 of surplus cash to repurchase shares of stock rather than pay a dividend.
6.  In his analysis of the impact of personal (and corporate) income taxes on capital structure decisions, Miller finds that the optimal total debt in the economy occurs where TB equals TC.  Once this equilibrium has been reached, how does a firm determine its optimal amount of debt?
7.  In Miller’s analysis of the impact of personal (and corporate) income taxes on capital structure decisions, he examines several possible relationships that might exist between tax rates.  If TS is less than TB, what impact will increasing debt have on the value of the firm and what is an intuitive explanation for this result?
8.  One of the many types of studies that examine the impact of capital structure looked at actual firms to see how stock prices reacted to announcements that the firm intended to issue stock and retire debt.  What did these studies find?
9.  Another set of studies of whether or not a firm’s stockholders and bondholders care about the firm’s capital structure found that most indentures include restrictive covenants and provisions for monitoring.  What does this reveal about the capital structure decisions in the real world?
10.  If a firm is close to bankruptcy, then the resulting loss of confidence causes various groups to break off beneficial relationship with the firm.  List 3 of these groups.
Problems/Essays

1.  Your boss at Groaning Motors Inc. (GM) has come into your office to tell you that he has heard that the most direct way to estimate the beta on a new project that GM is considering is to use historical returns on GM’s existing assets.  What problems should you mention to your boss with this approach?  Explain which of the alternative method or methods we discussed in class for coming up with the beta of a project will address each of these problems.  If more than one method addresses a problem, discuss which method best fixes the problem?  Note:  Be sure to address each potential problem separately.  
2.  Modigliani and Miller show that if capital markets were perfect (meaning there are no taxes, no transaction costs, no bankruptcy costs, free information, and that individuals and firms can all borrow at the same rate), then stockholders do not care if a firm changes its capital structure.  
a. They prove stockholder indifference by showing what happens to the value of any firm’s assets as the firm changes its capital structure.  Explain their rationale.

b.  They also prove stockholder indifference by showing the impact of a change in capital structure on the required return on the firm’s stock and on the return that stockholders can expect to earn on their stock.  Explain their rationale.
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